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A 2o2ZAH=E2 M 2t
HF: SIEANGFTA (2L 2 /2L 22
Sl 2a)EEw EERED
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403 UHXSHHSA=0l& 719,200 0 719,200
01 X SHMA2E X 719,200 0 719,200
O SSHNATHAS (KH2) 719,200
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De=sasasy 200,000
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2 300,000
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O3S ASNSAZAT2SA 224,690
= 172,084
< 52,606
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01 IXNHHBNEES 123,000 114,000 9,000
Ot Ed22E & 27,000
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403 UM E X201 H 20,000 0 20,000
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O3FASsNEEZE 82208 20,000
SEHEU=S2AHAHAH 3,324,000 5,526,000 A 2,202,000
s 2,379,000
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403 XA SA=0l& 3,324,000 5,526,000 A 2,202,000
s 2,379,000
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s 892,000
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= 472,000
S U=AIEANE L (HSAY) 1,950,000 1,880,000 70,000
403 MtXISHH S0l & 1,950,000 1,880,000 70,000
01 XM A=2EE 1,950,000 1,880,000 70,000
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> A
A & 0l & AF 2 E A A
20208 = =0l &b 2 BHSI A A
A= 2BBAS= FA - ZetR e
M MERJYRMUYMARNEE2 (2L 2Z/25HM)
Sl 25HHE 4+ F | EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
E o= A D 105,536,491 107,727,857 A 2,191,366
= 64,414,307
J| 7,021,396
< 34,100,788
HERARMAMARE =2 (2L 2Z/23H) 105,444,961 107,691,977 AN2,247,016
= 64,414,307
J| 7,021,396
< 34,009,258
23 ME+=FHI 73,584,060 74,594,365 A 1,010,305
= 52,562,128
J| 1,769,500
< 19,252,432
EME=FHIFA 10,800 25,800 A 15,000
201 et 6,000 6,000 0
01 At 22l 6,000 6,000 0
Opt=2Hl 6,000
O} ME+THFTUAREZTALYS 6,000
203 YR =2 4,800 4,800 0
03 AIMFAH S Z=AY| 4,800 4,800 0
D22l g2 4,800
SHNE2SME=(K) 64,059,099 64,993,657 A 934,558
= 52,562,128
< 11,496,971
403 A X EHHS 20l A 64,059,099 64,993,657 A 934,558
= 52,562,128
< 11,496,971
01 X HHMA=LE L 64,059,099 64,993,657 A 934,558
O2MXNE2ME = 64,059,099
= 52,562,128
=) 11,496,971
EXNEZSME = 7,350,000 7,000,000 350,000
403 MHXSHHSA=0l& 7,350,000 7,000,000 350,000
01 HXSHMA2E X 7,350,000 7,000,000 350,000
OZXNE23MHE = 7,350,000
ML=+ 100,000 100,000 0
403 MtXISHHE X201 & 100,000 100,000 0
01 XM A=2E X 100,000 100,000 0
L2 M2d=e2= 100,000
SHMHHGLTAASE RS 2,048,950 2,224,908 A 175,958
J| 1,769,500
< 279,450
403 A XIEHHS =0l A 2,048,950 2,224,908 A 175,958




A= 2BBAS= FA - ZetR e
M MERJYRMUYMARNEE2 (2L 2Z/25HM)
& 2AME=FH (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 1,769,500
= 279,450
01 HIXSHMA2E X 2,048,950 2,224,908 A 175,958
O HMHLXAIAS RS 2,048,950
J| 1,769,500
< 279,450
H18SDIE M= 7HI (23 HE) 15,211 0 15,211
403 Ut S S A201 & 15,211 0 15,211
01 XXM A2E = 15,211 0 15,211
JM18S EH S 01 E X off = 2 8 15,211
2MHESX A 13,580,818 12,956,845 623,973
= 3,429,479
J| 5,251,896
< 4,899,443
2 MESKAFE 3,650 11,750 A 8,100
201 Let24d] 3,650 3,650 0
01 At 22l 3,650 3,650 0
Ogst=2tl 3,650
OEINMESKNIAFTUASRESALHS 3,650
2SR ol &S K& 46,000 46,000 0
308 XXIEHHSOIA 46,000 46,000 0
01 XML EES 46,000 46,000 0
OZstMXZ 08X 46,000
SR IS el K2 55,000 55,000 0
= 55,000
308 MtXIEHSOIH 55,000 55,000 0
= 55,000
01 HXNHHBHEELS 55,000 55,000 0
O=SMa2e] 55,000
= 55,000
S MLYMHAIE =X 22l K& 1,004,991 989, 362 15,629
J| 890,498
< 114,493
308 XX EHSOIA 1,004,991 989, 362 15,629
J| 890,498
S 114,493
01 HIXNHHNBNEES 1,004,991 989, 362 15,629
23T 2 XAl A B = X 22l 1,004,991
J| 890,498
< 114,493
ZSHTHETH loTAI AR 2= 343,650 0 343,650
J| 304,500
< 39,150




A2 2SRBAS2 SN2k
B HESUASMUNHNSERL (2HLRZ/25T)
tel: EMESXR (=& J)
R.RN-ZE-E(HH) - HRAY - BES il Hl D = 2t
308 XXM SO0 A 343,650 0 343,650
| 304,500
< 39,150
01 AXNSGHBLAEES 343,650 0 343,650
O2SHEH IoTAIA B RS 343,650
| 304,500
= 39,150
EXNEZSFMHHLXAIAE RS 230,000 ,000 A5,000
403 XAtXISH M S K201 A 230,000 ,000 A5,000
01 AXSHMA2E = 230,000 ,000 A5,000
OEXNE 23 MG XAIAS RS 230,000
MM BH AL ES 2,605,720 , 787 23,933
| 2,004,400
< 601,320
308 XXX SOIA 2,605,720 , 787 23,933
| 2,004,400
< 601,320
01 AXSHBELS 2,605,720 , 787 23,933
23t er& B H| el s b XI 2,605,720
| 2,004,400
= 601,320
223t 250,000 ,000 A100,000
307 2Iztol ™ 100,000 ,000 A 50,000
02 RIZFA M AMAHE X 100,000 ,000 A 50,000
OEFZQEIIA ML AAZSH S 100,000
308 XXM S0l A 150,000 ,000 50,000
10 B2 SUHUE3AHEAE A I 150,000 ,000 50,000
OSIOtEE = X & 70,000
OFJtH I SA S L2t 80,000
== M 3,839,636 ,578 449,058
| 1,919,818
< 1,919,818
307 2Iztol ™ 3,839,636 ,578 449,058
| 1,919,818
< 1,919,818
02 RIZFE MM E X 3,839,636 ,578 449,058
OstM=Es At 3,839,636
| 1,919,818
< 1,919,818
SAMMAANZLESNNA(ZAE) 210,000 , 125 1,875
308 XXM S0l A 210,000 , 125 1,875
01 IXNSHHBANEES 210,000 , 125 1,875




AR 2HBBASS SN 2ERAD
M MERJYRMUYMARNEE2 (2L 2Z/25HM)
??: 2AMESXH (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OZXNE 23S E2e/H X 210,000
M A ZSHTH AL 645,250 575,750 69,500
= 445,000
< 200,250
308 XXM SOIA 645,250 575,750 69,500
= 445,000
< 200,250
01 AXHHILEES 645,250 575,750 69,500
[ 2 of THAHS 645,250
= 445,000
< 200,250
SUNMNMIAZSTHEE ALY 1,125,200 811,500 313,700
= 776,000
< 349,200
308 MtXIEHSOIH 1,125,200 811,500 313,700
= 776,000
< 349,200
01 HXNHHBHELS 1,125,200 811,500 313,700
OSSN 2 HES ALY 1,125,200
= 776,000
=) 349,200
A = AHOI S S AL K] & 17,696 17,493 203
J| 15,680
< 2,016
308 XX EHHSOIA 17,696 17,493 203
J| 15,680
= 2,016
01 HIXNHHBNEES 17,696 17,493 203
OXHFAQISBHALX R 17,696
J| 15,680
< 2,016
Sstor =2 528,500 525,000 3,500
= 302,000
< 226,500
308 XX EHHSOIA 528,500 525,000 3,500
= 302,000
< 226,500
01 AXHHBILEES 528,500 525,000 3,500
23 OF & A 528,500
= 302,000
= 226,500
HSLAZSTHE EALS 168,000 193,500 A 25,500
= 96,000
< 72,000
308 AHAIEHHSOIA 168,000 193,500 A25,500




Est2AZH== 2N 23Kt
HERSGRUAMANBEB (2L /25HT)
S}MMESXA (e H)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES %Eﬁ HR=2
= 96,000
= 72,000
01 AIKISHEMNEXZ 168,000 193,500 A 25,500
[ONMSAMA2SITHEZ ALY 168,000
2 96,000
= 72,000
NEESFAMNR 152,100 183,000 A 30,900
117,000
35,100
308 MXISHMSOIA 152,100 183,000 A 30,900
117,000
35,100
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